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Question Bank

Section A
Multiple Choice Questions(1x 15 = 15 marks)

1. Thesmallest8-digitnumberis:
(2)10,00,000  (b)1,00,00,000 (¢)1,00,000 (d)99,99,999

2. lcroreequals:
(a) 1 million (b) 10 million (c) 100 lakh (d) 10 lakh

3. In54,32,109thedigit 3isin:
(a) Thousand (b) Ten Thousand (¢) Lakh  (d) Crore

4. Placevalueof7in7,89,654is:
(a) 70,000 (b) 7,00,000 (c) 700 (d) 7,000

5. Expandedformof8,40,205is:
(a) 800000 + 40000 + 200 + 5 (b) 8 +40 +200 + 205
(c) 800000 + 40000 + 2000 + 5 (d) None of these

6. Numbernameof56,07,009is:
(a) Fifty six lakh seven thousand nine (b) Five crore sixty lakh seventy thousand nine

(c) Fifty lakh sixty seven thousand nine (d) None of these

7. WhichofthefollowingisequaltoSmillion?
(a) 5,00,000  (b) 50, 00, 00,000 (¢) 50,000 (d) 5,000,000

8. Whatcomesjustafter99,999?
(a) 1,00,000  (b) 99,998 (c) 1,00,001  (d) 99,000

9.6,00,000+70,000 +300+5=
(a) 6,70,305  (b) 6,07,305 (c) 6,70,035 (d) 6,70,305

10. Slakh= thousand
(a)50  (b)5000 (¢)500 (d)S5

11. Which of the following is in correct ascending order?

(a) 7890, 7980, 7880 (b) 7880, 7890, 7980
(c) 7980, 7890, 7880 (d) 7890, 7880, 7980

12. Number of zeros in 1 crore is:
(@)5 (b)6 (¢)7 (d)8




13. Write80lakhinnumerals:
(a) 8,00,000 (b) 80,00,000 (c) 8,000 (d) 80,000

14. Successorof9,99,999is:
(a) 10,00,000 (b) 1,00,000 (c)9,99,998 (d) 1,00,00,000

15. Which of the following numbers is greater?
(a) 9,87,654 (b) 98,76,540 (c) 9,87,645 (d) 89,76,450



Section B
Very Short Answer Questions (2 x 2 =4 marks)

16. Write the number name of 1,00,52,037 in the Indian syst!:m.

17. Write 76 lakh 5 thousand 9 in figures and place commas according to the Indian system.

Section C
Short Answer Questions (3x 3 = 9 marks)
18. Round off 8,43,251 and 6,72,897 to the nearest lakh and find their sum.

19. Arrange in descending order: 95,432; 9,54,321; 54,321; 1,23,456
20. AbookcostsX257.Howmuchwill 124bookscost?

Section D
Long Answer Questions (4x 3 = 12 marks)

21. Acityhasapopulationof53,72,189. Anothercityhas46,29,234people. Whatisthetotal
population? Write in words.

22. Writethenumber784532 lintheIlndianand International place value notation and write
their number names.

23. A company produces 3,45,000pensinoneweek. Howmanypenswillitproducein12
weeks? Write in words too.
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